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VI Semester B.Com. Examination, Sept./Oct. 2023
(cBcs)

COMMERCE
Cost Management

Max. trlarks :70

lnstruction : Answers can be written completely in English or
Kannada.

SECTION _ A

Answer any five of the following sub-questions. Each sub-question carries

two marks. (5x2=10)

ddnd olndde adl erod-{,dorl9ri srdo&. {,9 wd-{,dnob odd: erodrlcd)

dno6d:dd.

1. a)

b)

c)

d)

e)

D

s)

What is activity based costing ?

?3Eodr.3d s@od *qr-t oodded: ?

What is Business Process Re-engineering ?

6arDd 4g)o$ d.)d')-.aodooioonr oodded: ?

What is a cost driver ?

6DE6 €udd aodded> ?

Define standard costing.

E,dDsdd d?*d$ 4d0tu.

What is Break Even Point ?
,a$,xAe aod) oodded) ?

State any 2 advantages of Marginal Costing.
da$ddo dala{a o$Ecde 2 {,ojoeadd9& e9&.

What is a Budget ?

uod:dro1: 
"rodded: z

I

P.T.O.
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SECTION - B

4. From the following, calculate labour variances for the Department A :

Dept. A
Actual Direct Wages Fls. 2,000
Standard hours produced 8,000
Standard rate per hour 30 paise

Actual hour worked 8,200

dgnd{d9od, .acDsd A rDR dra)rd droaridddl eSao;.ad doa :

€,EDAJ A

0?i6Dd ded dedd dro.2,000
eruaa"Jats)d 4, dD sdd zlot3rl$: 8,000
,9e tfodri q,dDt6g dd 30 {i
OEdEn doi dnad rlou3rl9c 8,200

5. Sales 4,000 units @ Rs. 10 Per unit

Break-Even Point 1,500 units

Fixed cost Rs. 3'000

What is the amount of (a) variable cost and (b) profit ?

dD@t3 4,OOO oiroolrd$ @ dJa' 10 4,e oiJoot,,ri

i* Ba.9 ?,30& 1,500 dsdrl$r

AAd d?3., dto' 3'000

(o) Ddsaitd dq,sq (s) sDdd do{ aQt

Answer any three of the following questions. Each question carries six marks. (3x6=18)

ddnd o3n{de d)ro$ Bd4rlgri erDdo:r. €,E €)64oJD ud: eodzlgdl drDoa$dd.

2. What are the essentials of Budgetary control ?

ero$ddob &o3:o$ead errldrdi'l$; olnC;d t

3. Distinguish between Marginal Costing and Absorption Costing.

dDdrdef m:Ion6 dJdl eianl*;o6 dJ:lon{ ddJad ddsodi.

i
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6. Prepare Flexible Budget for production at 80% and 100% activity level on the

basis of the following information.
Production at 50% capacity - 5,000 units
Raw materials - Rs. 80 per unit
Direct labour - Rs. 50 per unit
Expense (Direct) - Rs. 15 per unit
Factory expenses - Rs. 6,000 (60% variable)

€r E9nd dD&.3o$ upadd d:eej 80% dJdJ 100% ?3tiJd[^3do$ d.:tl,rdo-eruooddri

draoadrosbF DdF,, sdi do$Do,$.

50% :od:Crrdo_waadd
d?:Dzjmd$Dd$

ded fJturd$
de.l(ded)
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5,000 +rJdii$r)

4,e o3:oOo.trd 80 dra.

4,.4 oi/oOffd 50 dro.

4,e o$oet,trrl 15 dra.

dro. 6,000 (60% deoo3:euo)roa:ard dqft1:

SECTION _ C

Answer any three of the following questions. Each question carries 14 marks. (3x14=42)
d$nd ohdde dr/acb 4d4r1qri e,"odo:r. e,.C d,d4o3:: 14 eoddgdtr dJao6ddd.

7. The standard material and input required for 1,000 kgs of a finished product
are given below :

Material Standard rate per kg
Rs.
20
40
60

Standard loss
Standard output mm
Actual production in a period was 2o,ooo kgs of finished product for which the
actual quantities of material used and the prices paid thereof were as under ;Material Quantity Standard rate per kg

kg Rs.P 1o,ooo 19o 8,500 42R 4,500 65

P

o
R

Quantity
kg

450
400
250

1 100
100
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Calculate :

i) Material cost variance

ii) l\4aterial price variance

iii) Material usage variance

iv) Material mix variance

v) tt/aterial yield variance

tudda,xd *{qd 1,000 ddderi uildrod:d €,dDrdd d& dr* e&r.tr erdtr dgri
OederoRd:

il1ililffiilIt]flilIilfl]ilil

4,E fSri €,dDEdd dd
dJo.

20

40

60

P

o
R

4dnm
gddsrO

450

400

250

1100

{,dDdd dd 100

q,dDrdd 8a$$ tooo

r od: erdQ od: O_ O?3ilo d eroao dd o$: 20, 000 dd $qdarr d eru-d.qdJ nd)o, qcr6D6R

rr9&d d$dd Otrdad {,dnead$: d:Q eddo aad,3$d deirl$r €t d9hdo8d :

dfl 4dnm E,dDodCdd4,.3*dil
tA dJo.

P 10,000 19

o 8,500 42

R 4,500 65

ejraaod d>E;
6

i) di; dt"fld droarn

ii) dfr; del drorn

iiD df: u$dob draori

iv) di2 tugta ddaodi

v) d& 
"$rdo 

ddard,
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8. The HDFC bank Ltd. wants to implement an ABC system for its teller department.
The activities identified and the associated cost drivers are given below :

Calculate :

a) The activity cost driver rates for each of the support activities

b) Estimate the total monthly support costs for the information given below :

Support activity Average monthly volume
Process deposits 11,500
Process withdrawals 30,000
Answer customer inquiries 10,500
Sell negotiable instruments 2,500

HDFC zrororr Otud66 d{ 8eJtr eFrdddABCddd{oSq ?sod dder: t:o$Brdd.

rbdgrerrd ?3[$doidild) $dr ioDoed dz{d zroe.:drl9dtr dsii OederrRd.

Support Activity Estimated
Cost (Rs.)

Activity Cost Driver Quantity

Process deposits 1,48,000 No. of deposits processed 1,66,250

Process withdrawals 1,30,400 No. of withdrawals processed 't 
,1 3,750

Answer inquiries 1,24,000 No. of customer inquiries 2,25,000
Negotiable instruments
selling

24,300 5,500

daDeelt3)drjf erorro*r dzd

(dJo.)

z3r$dtjf dri LDod
g3

{,!,o$ dedcdiftb 1,48,000 Eg,o$iira9BsEd
dedddd noa3,

1,66,250

99N
&oddo3)eddst

1,30,400 4,q,ofuriia9reDd
ql v c.J u3 \. ,A,^JaddS noa3,

1 ,1 3,750

r,Qdd A?"jadddd.) 1,24,000 2,25,000

drioe9oS:euef
.adJ as:ontr dooor.l.ld) ..)

24,300 dro oJ tiE;i d drioeS o3: eu se

"dled)or.trrl9 
noa3,

No. of negotiable instruments sold

d.dnro

rg,ddd ez:oddd$ nos6,

5,500
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eja;od dDa (d8i) :

o) {,edood: r.Joue a3$d[,3ddsri dt$d€,3t dz{z,oerd ddzi+r:

E) d$ri Oede,od dD&,grDn ?.t&"jdDPrd tJooe.t da$9d1 eo6?&) droa :

9. The Sales and Profits for two years are given below :

Year Sales (Rs.) Profit (Rs.)
1,20,000 8,000

2021 1,40,000 13,000

Calculate:

a) PV ratio

b) BEP.

c) Sales required to earn a profit of Rs. 40,000

d) Margin of safety at a profit of Rs. 1,25,000

e) Variable cost of the two years

f) Profit when sales are Rs. 1,80,000
add: ddrzl$ dDoos drdl eDqJd$dl dSri Oedennd :

dloEaB (dJa.) cnd(dJa.)
2020 1,20,000 8,000

2021 1,40,000 13,000

dsjnddli9dtr dod)&ad)o :

a) PV ud:aad

b) dJ r5e Eo&.

c) dn. 40,000 err?+J rleBe)) erldrad:d dDm[3

d) drD. 1,25,000 eDqJdO-$dddo$ dradFd6

e) odd: ddrilg udeDrud dLr,j

f) dJaoJ[3d dodtosa d]4. 1,80,000 'ao-oozi tlod enqi

douer Llt^bdtjd luoio dro:,d d0dror6
1 1,500

{,!,ob &oddotuad 30,000

ngddd earrddde ri sDgo:, 10,500

drioe9oS:euei wdddearlSdtr dDooo dDA 2,500

2020

{,gob dedd
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10. A company expects to have Rs. 37,500 cash in hand on l"tApril 2022, and
requires you to prepare an estimate of cash position during the three months

- April, May and June 2Q22. The following information is supplied to you :

Other information :

a) Period of credit allowed by suppliers - 2 months
b) 20% of sales are on cash 50% of the credit sales are collected next month

and the balance in the following month.
c) Delay in payment of all expenses - 't month
d) lncome tax of Rs. 57,500 is due to be paid on June 1Sth

e) The company is to pay dividends to shareholders and bonus to workers of
Rs. 15,000 and Rs. 22,500 respectively in the month of April.

dodOob 1de a.!,er 2o22dod) d,ro$O_dra.37,500 drld: dnodu: &oe3$dd
$d: Oed d:nd: 8oz1$cri$O_ ddd) -add (,oFJ?iJ AddalDd e, r leJ c^JO - C\JC^J, \, t

d:e d:d: dldd 2022. €{ ddnd d)iee
o
(I]JO}J od:ri ad8iond:

edd dD&,9 :

a) Qpdrdmdood cd)d).gierod gat, erdQ - 2 .9orl$rl$)
b) dDor[Jd 20% drlad dteej dnoor^:, 50% erud-o dD6JE^ld$ dDcad godq.)

io{,Eo3oatugd drq ?Ds drodddr doddd oofeSO-fo4al&itqa:.
c) ae'J dlrilg md.go$O 09ou - 1 gbd$o

z3 a.
d) dro. 57,500 eroJoJr dorioJ:d:o xno" 15doc$ aod9iz3erorbdd.
e) dodoob ded,:oadori oqroddd:n d)d) rotuFdori el.,aedr5dqd} 4d)ilan

d,a. 1 5,000 dJQ d,o. 22,500 d.I i"!, ef dO_ Dd.9iOd.

Purchases Wages
Factory
expenses

Office
expenses

Selling
expenses

Rs Rs Rs. Rs. Rs. Rs
February 75,000 45,000 9,000 7,500 6,000 4,500
March 84,000 48,000 9,750 8,250 6,000 4,500

April 90,000 52,000 10,500 9,000 6 000 5,250
May 1,20,000 60,000 13,500 11,250 6,000 6,570
June 'l 35 000 60,000 14,250 14,000 7 000 7,000

dDoo[.l deddrl9;
roarordoS:

d?3,19r
rJ

dzBeo

c^l991 tx,
?J

qJ o1c^Jv 75,000 45,000 9,000 7,500 6,000 4,500

c-)Jdil'l 84,000 48,000 9,750 8,250 6,000 4,500

ogef 90,000 52,000 10,500 9,000 6 000 5,250
J-^
c^IJ t_ 1,20,000 60 000 13,500 11,250 6,000 6,570
xoif 1,35,000 60,000 14,250 14,000 7,000 7,000

Sales

sDoeadSJ
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Product Annual
output
(Units)

Total Machine
Hours

Tota! no. of
Purchase Orders

Total no. of
set-ups

A 5,000 20,000 60,000 20
B 60,000 1,20,000 't,84,000 44

The annual overheads incurred are as under :

Volume related activity cost Bs. 2,50,000
Set-up related cost Rs. 4,10,000
Purchase related cost Rs. 3,09,000
You are required to calculate the cost per unit of each product A and B based
on ABC costing method.

b) From the following data, determine the break even point and the sale volume
to make a profit of Rs. 25,000.
Fixed overhead - Rs. 25,000
Variable cost - Rs. 10 per unit
Selling price - Rs. 15 per unit

D) $ag dnrd:Wart"oonr dod&olr: uod.: ddrdod9nd detoddl r.dAxbdd.

erudd .aoCll 1'

Ers€€.35

(+8drl$jr)

?.s3) o$oqd

rlot3rlS,:

8.[$ sDOeA

erdrdrlCr

?-ur) loetr

its6-edrlqt

A 5,000 20,000 60,000 20
B 60,000 1,20,000 1,84,000 44

aaard d:eOd $ed:rrld: (t dd dGrd9o) €r d$hdogd :

dodDso iouoQd Lrt$dt3d dqd". 2,50,000

ittre,Er ionoQd dqd". 4,1 0,000

$oea io?,JoQd dqd". 3,09,000

ABC dz*d ae?dd uqndd $eeJ Oe$ {,e erudid A d)+ B od) 4e olro&osri

deia!$4 eSdo aad:d erld, 0d.

8) d3 ddnd dDbsoo)od Bd)tsrg Dod) d)d) dra.25,000@qJ rlgBe)) rjerJd dJDo)o3d

{,d>eaddl dod)&aobo.

-8- iluill|illil!lil1il![!illll]

^JAJ 
I 

-)J-JoJf lQg I^)cD@t (,9'

deoo3:euef dzfl
dDoJs ajd

dJa. 25,000

4,.3 +tJdd. dn. 10

4,.9 o$iao8sri 15 do.

11. a) Supra Manufacturing Company furnishes the following data for a year :


